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Mathematics (ObjectiveType) S
Time: 30 Minutes : . Marks: 20

NOTE: Write answers to the questions on objeclive answer sheet provided. Four possible answers AB,C & Dtoeach
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

guestion with Marker or pen ink on the answer sheet provided.

AABC = —————

1-1. In any
@) o' (B) &° () &° o A
ﬁs—b s—c
2. With usual notation {—“'3}%“—1 is equal to:
a : - . . ¥
‘A) CDS-E* (B} Sln; (C} SlﬂE {D] Sln“z'
-
g 03 (~x) is equal to:
Z _sin” 7 esinx - s
(A} 2 5 X B) 3 tc) @ +C0S X (D) X—Cc0s X
4. Solution of the equation @0 X+ 1=0 i
3 Fs
5. 1f Z=a+ib whatis the valuelof 295 7
& _h_ a b
{(A) |z| 8) |z| € 3 o) 4
6. A functiof® 4 B8 is surjective i
(A) Range J =4 (8) Range / =58 (¢) Range / *3B () Range / %4
7. Determinant of any unit matrix has value:
(A) Greater than 1 (B) less than 1 () 1 (D) zero
8. A square matrix A is skew -symmetric if A is equal to:
(A) A (B) -A c) A D) A°

9. The discriminant of gx” + by +¢ =0 .' a = (st

A) b +4ac ®) 4ac-b ©) b’ ~-4dac (D) a’ —4ac



11.

12.

13.

14.

15.

16.

17.

18.

18.

20.

The degree of the equation X 430 +dx4+35=0is Zw w/ /"" / 9

(A) 4 : (B) 3 (C) 2 (D) 1
%o 1
Q(A’) will be improper fraction if

(A) Degree of O(x)=2 (B) Degree of @(x)=3
(C) Degree on(x) =4 (D) Degree on(-"'} =5
; K is equal to.:
n+1 : n n{n+1) n(n-1)
A 5 (B 5 5 =5 () N
The geometric .mean between —2i and i Is:

(a) +1 (e %2 - (C) *3 (D) +4
If A and B are mutually exclusive events, then P(A LJ B) is equahto:

A) P(g)+P(B) @ P(4)-r(B) icy(PEAB) o "(A)NP(B)
If CE: 'C;E ,‘then H is equal to:

(A) 8 (B) 12 {C) 20 (D) O

8

In the expansion of (x+y) , niiddle term is:

{(A) 1, (B) T (C) I, (D) I,

n M n n

I1f " is a positive even, integer, then 1 b 3 + 5 Foeeent | is equal to:

(A} 2:1 {B} 2n+] {C} 2n-l (D] 3n

An angle in the standard position whose terminal side falls on x —axis or y —axis is:

(A) General angle (B) coterminal angle {C) Quadrantal angle (D) acute angle
cos (7 +0) is equal to:
{A) S’ECQI [B} —cosf (C] cosd (D) —secd

Range of Cosine function is:

(A) I:—l.]) (B) [-1,1] (C) ["“L]:' ' (D) (_1.-]]
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- Inter - (Part-I) -A-2018

Roll NO.  tobefilled in by the candidate. (For all sessions)
Mathematics (Essay Type)
Time:.2:30 Hours ; W” - f, | Q Marks: 80
Section -1
2. ‘Write short answers of any eight parts from the following. 2x8=16
- i -1 ﬁ/-3
i. Separate into real and imaginary parts | 4 ; - i. Ssimplify {5~ /2').
iii. Write the converse and inverse of g > p . iv. Define the terms proper and improper subsets with example.
-2 3
v. Find inverse of 4 5] vi. Differentiate between 1, to afid onvio function.
) =|4]

vii. For a square matrix A, viii. What is Rank of matrix2 Explain with example.

& Ji]
ix Solve 15x° + 2ax—a’ =0 by quadratic formula. ~ x. If &y aréots of 3x? —2x+4=0find § -

xi. Does the set{ﬂ, - l} possess closure property w.r.t "Addition”sand "muitiplication™?

xii. Show that roots of equation (p + g)xz — px —g.= Ol aferrational.

3. Write short answers of any eight paris fron the following. 2x8=16
' ; Cxt 2 2(y-1
_i. Resolve into partial fractions.x;}. i, Ify:]+.';_+%+ __________ o0, show ma‘x=_(y_.l_
. & ¥
2 H(H+]) n
ii. Prove that 2, K = BEV iv. Findn,if £,=30.
k=1
n, 12x)d ,
v. Findn., if ¢ , X ? vi. Define the probability.

vii. If 5 and 8 are arithematic means between a and b find a and b.

1 21
vili. Find 12th term of Harmonic progression gsag S

ix. In how many ways 4 keys be arranged on a circular key ring?
x. Prove the formula 1+ 3+ 5+......;.+(2n—- 1) =n' forn=1,2.

n— o : : " 7
xi. Find the term involving x" in the expansion of (3-2x) .

: : 1
xii. Use binomial theorem, find the value to three decimal places (1.03)°.

4. Write short answers of any nine parts from the following. 2x9=18

B § s 2tan@ :
i Venfy2sm45“+§cosec45 =%ﬁ' i, Prove that: mzhmﬂcos@_



5.

(b) Prove that:

: @-"p-—r/ -13

sin 2¢x
tan(45° + 4)tan(45° — 4) =1 :  —— — =tana
iii. Prove that ( ] ( ) A iv. Prove that: | Sens e
. "
v. Define period of a trigonometric function. vi. Prove that ¥ =(s-4) tana- _
-1 ] -1 ] | 9 o
viL Prove that tan’ " -+ tan T 19- viil. Solve SINX+cosx=0
o ok : : . 20=4
- ix. Solve the trigonometric equationS€¢ ¥ = /3 .
x. Find the radius of the circle in which the arm of the central angle of measure 1 radian cut off an arc of length 35cm.
a+f oy
xi. I /3 be the angle of a triangle ABC then prove that €OS =S’/
xii. Find the smallest angle of AABC whena=37.34, b=3.24 ,¢=35.06
xiii. Find area of triangle ABC given three sides a =18, b=24 , ¢ =30.
Section -II
Note: Attempt any three questions from the following. 10x3=30

r
(a) Convert into logical form and prove by truth table of (A 8), = 4#'U B’

(b) Find the value of 1 if given system has non-trivial solttion

X +4x, + A%, =0,2x, + x, - 3x, =0,3x, 441K, <¥x, =0

. (8) #% P are the roots of xz—Px”P—C=0,then prove that: (’+Gf)(1+ﬂ)=1“ff.

¥ fat
(b) Resclve into partial fraction (xz yE )(xz +(:2-)(x2 +d2)

- (@) The sum of 9 terms of @A.P is 171 and its eighth term is 31. Find the series.

(b) I Xis very nearlylequal 1 then prove that: px’ —gx = (p —q)x”“’ :

. (a) Find the value of remaining trigonometric function of Sin @ = *75“

and the terminal arm of the angle is not in quad I1I.

sin 3¢ | cos 36
cos/ siné

2c0t20

. (a) Prove that: 1 ¥ +1—r=4R

; . =] 3 - ._‘r |
.S —+sin —=smn —
(b) Prove that: 5 17 85 -
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